(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

# Result Register (A.T.K.T. Exam.)

**EXAMINATION**: May - 2025

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name		ples of ement	The	ortya Ory of gemen	ý of Mathe emen –			luction to onment	Tech	mation nology siness	Sta	iness rt up kills	_	ness nunicat Skills I	Know	dian vledge stem		dation of vioural		luction ports			Total Marks	Sum CG	Credits Earned	SGPA	Grade
					SEE 24/60	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30	IA	SEE					
1	24031	FBM1525001	/ ARENAVARU PRIYANKA SURYAKANT VIJAYLAXMI	\$16	\$25	\$16	\$24	\$8	\$21	\$18	\$16	\$8	\$17	\$16	21	\$15	20	\$16	\$20	\$17	\$22	\$18	\$16			350	148	22.0	6.73	B+
2	24047	FBM1525002	BHOIR SUJAL SURESH USHA	\$21	AB	\$12	AB	\$13	\$12	\$14	\$12	\$12	\$12	\$10	02	\$13	\$12	\$13	12	\$13	AB	\$11	AB			194	48	10.0		F
3	24085	FBM1525003	BORADE BHAVIK ASHOK ASHWINI	\$20	24	\$16	\$12	\$13	\$12	\$15	\$12	\$15	13	\$14	\$12	\$14	17	\$14	\$12	\$13	\$12	\$19	\$12			291	118	22.0	5.36	С
4	24076	FBM1525005	CHAUHAN LOVE MANOJ SANGEETA	\$20	24	\$13	\$12	\$13	\$12	\$13	\$12	\$15	\$12	\$14	\$12	\$13	\$12	\$13	\$13	08	12	\$19	\$15			277	108	22.0	4.91	Р
5	24013	FBM1525007	/ DHOKE AMAN VIJAY KALPANA	\$20	32	\$14	\$16	\$13	\$20	\$16	\$14	\$15	\$12	\$13	\$12	\$15	\$14	\$16	\$15	\$12	\$12	\$08	\$12			301	124	22.0	5.64	В
6	24012	FBM1525023	/ LABANA PRIYA KISHANSINGH SARIKA	\$22	35	\$15	\$22	\$13	\$18	\$16	\$16	\$16	\$13	\$12	\$13	\$15	\$16	\$8	\$14	\$8	\$12	\$08	\$13			305	128	22.0	5.82	В
7	24001	FBM1525024	/ LABANA RITIKA RAVISINGH MANJU	\$22	35	\$14	\$24	\$12	\$15	\$18	\$20	\$16	\$14	\$18	\$15	\$17	\$21	\$17	\$15	\$14	\$13	\$08	\$15			343	142	22.0	6.45	B+
8	24091	FBM1525029	PATIL SOHAM RAJENDRA JAYASHREE	\$20	24	\$14	17	\$8	17	\$14	\$12	\$14	\$12	\$11	\$12	\$13	12	\$13	\$12	\$12	\$12	\$19	\$12			280	110	22.0	5.00	С
9	24097	FBM1525030	PAWAR MANMOHAN AJINKYA ANJALI	\$22	24	\$14	\$14	\$13	\$23	\$14	\$15	\$14	\$12	\$8	\$12	\$14	\$12	\$15	\$12	\$12	13	\$19	\$15			297	118	22.0	5.36	С
10	24055	FBM1525033	/ PUKALE RUPALI RAMCHANDRA SHITAL	\$18	27	\$12	\$20	\$13	\$13	\$12	\$12	\$14	12	\$10	\$12	\$13	12	\$13	14	\$13	12	\$18	\$12			282	110	22.0	5.00	С
11	24020	FBM1525034	/ RAMPHALE VAISHALI BHASKAR SUNITA	\$18	24	\$15	\$12	\$13	AB	\$15	\$12	\$13	\$12	\$16	\$14	\$13	\$12	\$14	\$13	\$11	\$14	\$09	\$12			262	98	20.0		F
12	24073	FBM1525037	SAROJ SURAJ CHANDRAKESH SONIDEVI	\$30	29	\$17	22	\$19	\$12	\$18	\$12	\$13	14	\$17	\$12	\$17	\$12	\$18	\$12	\$14	\$12	\$20	\$12			332	140	22.0	6.36	B+
13	24065	FBM1525038	SAWANT SUMIT SAHEBRAV MANISHA	\$21	26	\$15	\$13	\$13	\$12	\$17	\$12	\$12	\$12	\$9	\$12	\$13	\$12	\$14	\$12	\$10	\$12	\$08	\$12			267	102	22.0	4.64	Р
14	24072	FBM1525039	SHAH IBRAHIM MEKALI JAMILAKHATOON	\$21	24	\$16	\$12	\$14	\$13	\$14	\$12	\$16	\$12	\$17	\$12	\$16	\$12	\$17	\$12	\$15	12	\$19	\$12			298	120	22.0	5.45	С
15	24023	FBM1525042	SHIRSAT YASH SANJAY SHILPA	\$16	27	\$14	\$12	\$15	\$12	\$15	\$14	\$13	\$12	\$15	\$12	\$14	12	\$13	\$14	\$11	\$12	\$18	\$15			286	110	22.0	5.00	С
16	24064	FBM1525044	SURYAWANSHI OMSAI GOVIND RANIBAI	\$21	40	\$16	\$17	\$13	\$12	\$13	\$14	\$13	\$13	\$14	\$20	\$13	\$16	\$15	\$12	\$13	\$13	\$18	\$16			322	132	22.0	6.00	B+

**PROGRAMME :** Bachelor of Commerce (Management Studies)

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

# Result Register (A.T.K.T. Exam.)

**PROGRAMME :** Bachelor of Commerce (Management Studies)

Printed on date - 12/06/2025

Repeater **SEMESTER**: I **EXAMINATION**: May - 2025

	Roll No.	Seat No.	Name			Theo	artya ory of gemen		matics	t	0	Techr	nation nology siness	Sta	ness t up :ills	Comm	ness nunicat Skills I	Knov	vledge	(	dation of vioural	to Sp			Total Marks		Credits Earned		Grade
					SEE 24/60				SEE 12/30												SEE 12/30			SEE					
17 2	4037	FBM1525046	WAGHMARE ANSH SANTOSH KOMAL	\$16	31	\$14	18	\$13	\$18	\$15	\$12	\$13	\$12	\$15	\$15	\$13	\$12	\$13	14	\$12	\$12	\$19	\$12		299	120	22.0	5.45	С

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

# Result Register (A.T.K.T. Exam.)

**EXAMINATION**: May - 2025

Repeater

**SEMESTER**: I

Sr. No.	Roll No.	Seat No.	Name		ngement 1 - I Ma		artya ory of gemen	Mathe	incial ematics - I	t	luction o onment	Techr	mation nology siness	Sta	iness rt up tills		ness nunicat Skills I	Knov	dian vledge stem	Found C Behav	of	Exte W (DLI	ork			Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 16/40	SEE 24/60	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA	SEE					
18	24040	FBM1525006	/ DHIWARE SANCHI RAVINDRA SHOBHA	\$25	26	\$18	\$12	\$13	\$12	\$18	\$16	\$8	20	\$8	\$14	\$14	\$14	\$12	\$12	\$12	12	\$17	\$12			295	118	22.0	5.36	С
19	24067	FBM1525008	DUBEY VEER RAVINDRA NITU	\$20	24	\$14	\$18	\$15	\$13	\$16	\$12	\$14	\$12	\$10	\$12	\$13	\$14	\$15	\$12	\$9	\$12	\$15	\$12			282	110	22.0	5.00	С
20	24054	FBM1525012	/ HASWANI PRIYA RAKESH SIMRAN	\$22	\$24	\$14	\$14	\$16	\$12	\$18	\$12	\$16	\$12	\$14	\$13	\$15	\$12	\$14	19	\$16	\$12	\$16	\$12			303	124	22.0	5.64	В
21	24074	FBM1525015	/ JAISWAR ROSHNI UMESH CHANDRA KUSUM	\$25	\$24	\$15	\$17	\$13	\$25	\$15	\$16	\$17	\$12	\$15	\$15	\$13	\$15	\$14	\$12	\$12	19	\$15	\$19			328	136	22.0	6.18	B+
22	24011	FBM1525016	/ JOSHI ARPITA NITIN RUPALI	\$24	30	\$15	\$18	\$13	\$20	\$15	\$16	\$16	\$12	\$10	\$15	\$16	\$19	\$17	\$12	\$14	\$14	\$17	\$15			328	138	22.0	6.27	B+
23	24024	FBM1525019	KAKDE JAYESH PRAMOD SUJATA	\$24	27	\$16	\$18	\$19	\$22	\$16	\$13	\$14	\$12	\$18	\$19	\$13	\$12	\$16	\$12	\$14	\$15	\$15	\$19			334	138	22.0	6.27	B+
24	24026	FBM1525021	/ KOLI MEENAL KURMURTHY SWATHI	\$24	24	\$14	\$17	\$17	\$23	\$14	\$18	\$14	\$12	\$15	\$15	\$15	\$12	\$14	\$12	\$12	\$12	\$16	\$14			314	128	22.0	5.82	В
25	24083	FBM1525022	/ KSHETRE SHARMILA DASHRATH JAYASHREE	\$24	24	\$18	\$13	\$19	\$28	\$16	\$12	\$16	12	\$15	\$12	\$15	\$16	\$14	\$13	\$13	\$14	\$15	\$12			321	128	22.0	5.82	В
26	24033	FBM1525025	/ MONDAL SHRUTI SHRIKANTA SAPNA	\$25	24	\$17	\$12	\$14	\$13	\$17	\$16	\$8	\$12	\$11	\$12	\$14	\$13	\$15	\$12	\$10	\$12	\$15	\$12			284	106	22.0	4.82	Р
27	24062	FBM1525026	/ MORE AKSHADA GAUTAM RANJANA	\$20	07	\$14	\$12	\$13	05	\$13	12	\$12	\$12	\$8	03	\$14	12	\$14	\$13	\$13	\$12	\$15	\$12			236	68	14.0		F
28	24087	FBM1525035	SABLE SUSHANT MAHADEV RESHAMABAI	\$22	35	\$14	\$14	\$14	\$12	\$15	\$12	\$13	\$12	\$14	\$12	\$14	\$12	\$14	\$12	\$14	\$12	\$16	\$12			295	118	22.0	5.36	С
29	24090	FBM1525040	SHAIKH SHOAIB ANWARHUSSAIN SHAMSHAD	\$22	24	\$16	\$12	\$8	\$12	\$14	\$12	\$15	\$12	\$16	\$12	\$14	\$12	\$13	\$12	\$14	12	\$16	\$12			280	110	22.0	5.00	С
30	24029	FBM1525041	SHARMA KUNAL BHARAT SANGEETA	\$18	39	\$14	\$17	\$13	\$16	\$14	\$14	\$15	\$12	\$14	\$15	\$17	\$12	\$15	\$12	\$10	\$15	\$16	\$15			313	130	22.0	5.91	В
31	24039	FBM1525043	/ SUGAM NIMISHA SHRINIWAS SEEMA	\$22	26	\$18	\$12	\$13	\$16	\$17	\$12	\$8	12	\$9	\$14	\$15	\$17	\$14	\$12	\$12	14	\$15	\$12			290	114	22.0	5.18	С
32	24003	FBM1525045	/ UDAGE RAKHI RAHUL CHITRA	\$22	35	\$14	\$13	\$16	\$19	\$16	\$16	\$14	\$13	\$18	\$15	\$15	\$21	\$17	\$18	\$14	\$14	\$17	\$16			343	146	22.0	6.64	B+
33	24068	FBM1525047	GADKAR PAWAN PRAVIN SAVITA	\$22	24	\$17	\$17	\$13	\$14	\$19	\$12	\$15	\$12	\$16	\$12	\$15	\$12	\$16	\$12	\$11	\$12	\$15	\$12			298	116	22.0	5.27	С

**PROGRAMME**: Bachelor of Commerce (Management Studies)

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

**EXAMINATION**: May - 2025

# Result Register (A.T.K.T. Exam.)

**PROGRAMME :** Bachelor of Commerce (Management Studies)

Repeater SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name		ples of ement I	The	artya ory of gemen		matics	t	luction o onment	Techi	mation nology siness	Sta	iness rt up kills		ness nunicat Skills I	Knov	dian vledge stem	Found C Behav	of	Nati Ser Sch	vice		Total Marks	Sum CG	Credits Earned	SGPA	Grade
					SEE 24/60		SEE	IA 8/20	SEE	IA 8/20	SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30	 SEE					
34	24107	FBM1525010	GAIKWAD ROHAN SACHIN MANISHA	16	26	\$17	\$13	\$14	22	\$17		\$8	14	13	\$12		\$12	\$16			\$13		\$15		298	122	22.0	5.55	В
35	24099	FBM1525011	GAMBHIRE VIKRAM SANTOSH SANDHYA	\$16	24	\$14	\$13	\$11	22	\$13	\$14	\$13	\$14	\$15	\$12	\$12	14	\$11	\$13	\$11	\$12	\$11	\$12		277	104	22.0	4.73	Р
36	24104	FBM1525018	KADDI BHAVESH KRISHNA ELIZA	\$22	24	\$16	\$13	\$12	25	\$14	\$17	\$14	\$14	\$16	\$12	\$13	05	\$16	\$12	\$12	\$12	\$13	\$12		294	112	20.0		F
37	24105	FBM1525020	/ KHILLARE TUSHAR RAJESH VIDYA	\$22	30	\$15	\$22	\$13	19	\$14	\$12	\$14	\$12	\$18	\$15	\$13	\$17	\$16	\$15	\$12	\$19	\$11	\$17		326	138	22.0	6.27	B+
38	24017	FBM1525028	PASWAN ROHAN DHIRENDRA KIRAN DEVI	\$24	\$24	\$14	\$13	\$13	12	\$15	14	\$14	\$12	\$10	\$12	\$13	\$12	\$14	\$12	\$12	12	\$12	\$12		276	102	22.0	4.64	Р
39	24102	FBM1525031	PIMPALKAR DAKSH SATISH RESHMA	\$22	24	\$15	\$12	\$13	\$21	\$14	\$12	\$16	12	\$15	\$12	\$15	\$12	\$16	14	\$12	\$12	\$11	\$12		292	112	22.0	5.09	С
40	24008	FBM1525032	/ POOJARI JAYSHREE BASAVRAJ JAGGAMMA	\$20	26	\$14	\$12	\$16	\$16	\$13	\$13	\$15	12	\$16	\$13	\$13	\$12	\$16	\$12	\$13	\$12	\$11	\$12		287	112	22.0	5.09	С
41	24081	FBM1525036	/ SAKPAL TANVI DEEPAK DIKSHA	\$21	24	\$17	\$15	\$14	\$12	\$16	\$12	\$16	\$12	\$16	\$12	\$16	\$12	\$15	\$12	\$14	\$12	\$13	\$12		293	118	22.0	5.36	С

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

# Result Register (A.T.K.T. Exam.)

**PROGRAMME :** Bachelor of Commerce (Management Studies)

A.T.K.T. Exam.)

EXAMINATION: May - 2025

SEMESTER: I

S N		Jeal NO.	Name		iples of Jement - I	The	artya ory of gemen	Fina Mathe	matics	t	luction o onment	Techi	nation nology siness	Sta	iness rt up kills	Comn	ness nunicat Skills I	Know		Foun ( Beha	dation of vioural	Introd to Cu Activ	ıltural			Total Marks	Sum CG	Credits Earned	SGPA	Grade
					SEE 24/60		SEE 12/30		SEE 12/30	_	_				SEE 12/30						SEE 12/30			IA	SEE	•				
4	2 240	50 FBM1525004	/ BRAMHANE ANSHITA HARESH ARCHANA	\$24	36	\$14	\$12	\$13	16	\$14	12	\$12	\$12	\$15	\$12	\$13	14	\$14	\$12	\$13	\$12	\$15	\$12			297	118	22.0	5.36	С
4	3 240	22 FBM1525009	GADHIRE BHAVESH SAMADHAN RAJSHREE	\$18	24	\$14	\$12	\$13	13	\$14	19	\$14	\$12	\$15	\$12	\$14	\$14	\$14	\$12	\$11	\$13	\$15	\$15			288	114	22.0	5.18	С
	4 240	19 FBM1525013	JADHAV HARSHAL VIJAY MEENA	\$20	24	\$13	\$13	\$13	\$13	\$13	\$13	\$15	13	\$10	\$12	\$13	\$12	\$15	\$12	\$14	\$12	\$10	\$16			276	106	22.0	4.82	Р
	5 240	21 FBM1525014	/ JAISWAR ANIKET ASHOK GEETA	\$18	12	\$13	\$12	\$13	15	\$16	12	\$13	03	\$14	\$12	\$13	\$12	\$15	15	\$10	12	\$15	12			257	86	16.0		F
	6 240	46 FBM1525017	/ KADAM ALISHA ARUN PRATIBHA	\$27	27	\$14	\$17	\$13	\$12	\$15	\$12	\$15	\$12	\$16	\$14	\$14	\$13	\$14	\$12	\$13	\$12	\$15	\$12			299	118	22.0	5.36	С
4	7 240	25 FBM152502	/ PAREKH RIYA ALPESH DIKSHITA	\$20	26	\$12	\$13	\$13	\$21	\$14	12	\$14	00	\$10	\$12	\$14	\$12	\$14	\$16	\$10	\$13	\$15	\$20			281	106	20.0		F